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1. Fred is given a rectangular piece of paper. If the length of Fred’s piece of paper is represented by
@and the width is represented @hen the paper has a totpresented by
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where x is

3 Walton has his money invested in a stock'po‘rtfolio. The valys
portfolio can be modeled with the function w(x) = 15 2601

the number of years since he made his investment. Which statement describes
the rate of change of the value of his portfolio?

1) It decreases 88% per year. 3) Itincre; 88% per year.
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@ It decreases 12% per year. 4) ltinc es 12% per yearfb \- @
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5. 1fA =@c2 + 5x — 6)an’d B =(—2x2 —6x + 7) then 4;— B equals

(1) —5x2% — 11x + 13 (3) —5x%2—x+1
(2) 5x% +11x—13 (4) 5x2—x+1

%.4 Which expression is equivalent to (3x5 + 8x%) — (7x? — 6x3)?

(1) —4x% + 14 fj ;= ( 3 > pef Pvda\&m}
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8. Simplify each expression.
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W Connor wants to attend the town carnival. The price of admission to the carnival is $4.50, and
{-eachi ride costs an additional 79 cents. If he can spend atmost $16.00 at the carnival, which
'|n'equaI|ty can beugéféd to solveffor r,¥he number of rides Connor ca go on, and what is the
maximum number of rides he can goon?

(1) 0.79 +4.50r £16.00; 3 rides
(2) 0.79+4.50r £16.00: 4 rides

C@—’Is‘m 0.79.< 16.00; 14 rides™ 4, SD +. 7q L (o
(4) 4.50+ 0.79(£ 16.00; 15 rides —
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> The formula for the volume of a right circular cylinder is ¥= x7*%. The value of h can be
expressed as ‘ _
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12(;,2 In the equation 4 = p + prt, tis equlvalentt
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13. Jordan works for a landscape company duringthis summer vacation. He is'paid $12 per hour for
mowing lawns and $14 per hour for planting gardens. He can work a maximum of 40 hours per week,
and would like to earn-at/least $250 this week/ If m represents the number of hours mowing lawns
and g represents the number of hiours planting gardens, which system of inequalities could be used
to represent-the-given conditions?
oot LeastT
1) m+g =40 3) m+g=40 A
12m+ 14g 2 250 12m + 14g < 250 > A S0

2) m+gz40 | | 4) m_+g%4ﬂ may O'S: L—{O

12m+ 14g = 250 12m+ 14g 2 250
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. Edith babysits for x hours a week after school at a job that pays $4 an hour. She has accepted a
jOb that pays $8 an hour 2s a library assistant working y hours a week. She will work both jobs. Sheis "

able to worlg/no more than han 15 hours a week, due to school commitments. Edith wants to earp at Ieast 7
$80 a week, working a combination of both jobs. Write a system of inequalities that can be used to aad

represent the situation.
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Graph these inequalities on the set of axes below.
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while working no more than 15 hours. /~
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(h hen solving the equatio 3x + 2) 9 =8x247, Emlly wrote 4(3x? + 2) 8x%+16as’
er first step. Which propert
%~C3

é(l) addltlon property of equahty /._;
{2} commutative property 6 fion
(3) multiplication property of equality

(4) distributive property of multiplication over addition
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{ 16/ What is the value of x in the equation palabl (5 \% ,;_&:j&”
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1? Which value would be a solution for x in the inequality 47— 4x < 7? \l\ -

( Use this space for
\ ya {-j i computatlons
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@Solve the inequality below to determine and §tate the smaIIes%;ossmle value for x in the solution
set. ‘
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( Zm(s‘?The graph of an inequality is shown below
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a) Write the inequality represented by the graph. -
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b) On the same set of axes, graph the inequdlity x + 2y < 4. EJ

c) The two inequalities graphed on the set of axes form a system.
Oscar thinks that the point (2,1) is in the solution set for this system of inequalities.
Determme and state whether you agree with Oscar Explain your reasoning. m —_ ‘ J/ b -
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'@What is one point that lies in the solution set of the system of inequalities graphed below?
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Which graph shows the solutlon of the given set of inequalities?
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24.  On the set of axes below, draw the graph of the equation
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s the point (3,2) a s‘olutc}?on to the equation? Explain your answer based on the graph drawn. Q‘;(’/
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26. A function isshown mﬂ%e able beiow ffincluded in t e table, which ordered pair, (—4,1) or
(1§;<If) would result in a relation that is no longer a funi on? Explain your answer.
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. 27. The function fhas a domainvof {1,3,5,7} and a range of {2,4,6}. Could f be represented by
{(1,2),(3,4),(5,6),(7,2)}? Justify your answer.,
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28, Which situation could be modeled by using a linear functlon? I C es !r)(j s
28. Whic
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(1) a bank account balance that grows at a rate wded annually * @Wf’* 85—
(2) a population of bacteria that doubles every 4.5 hours V\\'W e 5\

@the cost of cell phone service that charges a base amount plus 20 cents per rﬁinute (\S\(/
(4) the concentration of medicine in a person’s body that decays by a factor of one-third every hour
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29. A population that initially has 20 birds approximately doubles every 10 years. Which graph

-

represents this population growth?
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31. Which chart-could represent the function f(x) = 2x + TR ,
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33. A company that manufactures radios first pays a start-up cost, and then spends a certain amount
of money to manufacture each radio. If the cost of m_e_r__yf_acturmg r radios is given b)éheil!g{\ctlon

s e

c(r) = 5.25r + 125, then the value 5.25 best represents
b ﬁ;@
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(1) the start-up cost | A5 3 \
(2) the profit earned from the sale of one radio . /3 - 3 . ;;‘ f) \r(i‘ ‘1 /
@he amount spent to manufacture each radio // \<C‘3/
(4) the average number of radios manufactured (& \
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34 If A1) = Gz~ 1)* + 3m, which statement is true? \
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35. Krystal was given $3000 and her parents invested it at a 2% interest rate compounded annually
No deposits or withdrawals were made. Which statement does not yleld the correct balance in the
account at the end of 3 years.

DU

@/3000(1 02)3 @, 3000(1 + 0.02)(1 + 0.02)(1 + 0.02)
W @) "3000 + 3000(. 02) + 3060(. 02) + 3121.2(.04)
Oz D000 t=3 | 2
(= 2% = .02 3@@@(( =, 03
ﬁj}/ -~ 20001 03)7

36. Rhonda deposited $3000 in an account in the Merrick National Bank, earning 4.2% interest,
compounded annually. She made no deposuts or withdrawals. Write an equation that can be used to

fmd B, her account balance after t years. T
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37. Solve the following system of equations graphically on the grid below. 5 — V\(\ X ’_‘_ b

2x+y=1
—2y<-x+8




38. Lauren and Patty went to the pizzeria to buy pizza and drinks. Lauren bought 3  pieces of pizza and 2
drinks for $16. Patty bought 2 pieces of pizza and 4 drinks for $16. Let x equal the price of piece of
pizzaand y equal the priceof one drink.

~) - —
Write a system of equations that describes the given situation. D X “P 0? ﬁ — l (0
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On the set of axes below, graph the system of equations.
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Determine the exact cost of one piece of pizza and the exact cost of one drink in dollars and cents.
Justlfy your solution.
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